
EOCT REVIEW

CIRCLES

*A) 2000

c) 37.

Siolve fur x.

.{) -4
ri) 10

lfl: I

Name LE\
Date Period

F"ind the nleasure of the firc or cemfral angle indicated. Assume that lines which appear to he diamet*rs
are actual diamet*rs"

fi *$EG -- Ro +ftr + t{O 
= Zoq,o 2t *{FE

E 70"

D
70"

E

fi5.',

B) 85.
D) 96.

A)
c)

,,\) _iZ
*u.

z\) 95o

c) 81)*

I]) 61"
*D) 45"

B) 10

D)e

*B) 90o

If) 107"

tQx=t5
fx =El

Assume thst lines which appear to be diameters are actu*l diameters.

b5 = -tox+5
bO = -lO x

4)

B) *2
*D) -6

Finql th* moflsurt of the arc or central nngle indicated. Assume that lines rvhich appefir to be di*meterr
are actual diameters.

\ tnDE -+x+l\-rr{r+S-t{x-5 =?bo 6} *ZIJL at>+b5 -l5x -Bx-3 =3tas
-35 -+ 16 = 3k(5

x---to

4{Grs) -5

-eg +132. = 3bo
X e-k

-z7x -3

A) 144'

c) 140"

B) 132"
eD) 135*

-@ -rs(-q)=lf[



If *n angle is gil'en, nams the arc it rurakes"

7) S'laior arc for l-?

Fimd the m€fls*re of the are or angle indie*ted.

lf an arc is given, name its central angle.

A).9_
T1 HKT

8) h{ajor arc far zl

A)
c)

Z-

A) 1{J7"

c) 59.

{/x
{/XW

o\ 10)

*B) {JWV
n) {/v

\ kb -r t 2-q = ltbo
,)', LYzi(rer"\

13,) 62"

W'

{ zF-- l8O -++ = 163

Gt+ts=Z(toa\
= Lau.

\ . -tl1" - ' 6tt --?,c,te -tlg
'sB) 8go
=:<+<:,D)4ff

{}50

I

I

i

i

EI

l'"

j

l

\s

;\i 46o

c) 8j"

t2)

A)2 Er)6
c) 4 p). 11,

Z(tx+z\ :12
Bx -r,H =aZ

Bx -- BB

A) 13 *ts) 2- _
.,. c) {} D) 14

1Lx + to {-t}(o X- Z + t* I x -Z =3too
l+1x +-2r =3too

t?lx = 356

a\

/{r' ,

$*rlrc fsrr.

z$rox+a) = aLx+tn

M 41x *Z

*

46-r + 3



Find the mefls*re of the arc or angle indicated.

13) Find mzYXW'

- z(zx+rr) = gx+ 15
5"v-i-15 \ rr...^r -F- . r\ {x+Xb =5x+15

t55&

zYxul =ZL|E= ) +tb

14) Find rnLM L(S+zf x\ = lo + 5€.r

6158x rSBx+z+ Zpx =}.oo

3Bx+z ltte x +tL=3bo
lltax: 3{ S

X:3

r? =2.o<-a \=Goo
*Ai-gr
c) 54.

A)
B)

*c)

r=6,y=()
.r*0,y=4
ff=0,J,=2

B)
D)

56"

zi"
A) 65"

'r'c) 600

B) 55'
D) 68"

Srlve for x *nd y.

l5)
rl

D);r=11"y=)

A) r=5,!=12
B) "r=3,),-9

*C)x=8.y-15
D) r= 12,y=7

X +to+ +3to6+\ = [$O

A),r=7,1=15
B) "x= lil,y-6

+Cl) x=)-y-Qk

D) r= 12,y=6

A) x=8,Jr=10
B) x=3,.t-=4

+C) x = 10, J.,= 1?.

D) x=3,"1,,=13

18)

1A9+2y t

3y+26 9;+ 10

a

6y.+ 8 6x +. 14 8r, + l0

8v+ l4

-3-



Fintl the moflsure of the arc or angle indic*ted. Assuure that lines rvhich appear tangeut are tangent.

19) 
R

?{))

L?--r(zas -rzr\
29=E,6. Lcz *.(,zo) : (ooa

?

goo -?-qo -- l?ff

A) 39.
c) 50.

2i)

A)
c)

600

45"

2t)

235'

B) 45'ury

A^

B) 70'
*D) 50b

:10\

*B) 105"

I)) 90*

=i tr+a -+a)
Zr,,r =5d

A) 35'
c) 75"

*A) 600

c) 44'

?4)

A) 40'
*c) 45'

*B) 60'
D) 39'

B) 40"

D) 35"

1 45'

\ L1 = |(zro\
It /:a= lo5'

Lm -^t (,ro +ao)
LYYI = bO

LT=.|(rqs -s6)
LT= 48"

1L

64"

A) 12(}'

c) 139o
B)

D)

550

50"

35)

lLV =' r(r,,r -F5)
LV--5!50

1 65',

A) 33'
c) 70"

B) 35"
pl-ss'-



$olve for x.

2*\

r{5? (r*z+\ .La

z3zE --L=x +7La
lLlto --z+Y
lE=-il

B) 4s

'-D) 48

,,\) 13

c) ls

.F'imd tke mefi.r{&re of the line segment indicated,

Zai Find I-N
La--n e -- e'sYr^o\ e-' o..-*-tsial

:1 'r"B) 1g

-
2s D) :4

t*=tx+b\. B

lLt4 : Ox + 4O

?t, =Bx
17=Y

LN =B *[tz - 2-)
IJrl = l"

Assume thnt lines lvhich appeer tangcnt are tangent.

)6,o-nl--rsho\ a.. o,r.*tr8ldo- 27\ pl.pZ*Pl'Pz
9.5={.X

LIO=Qx

*'&-19

c) 13

B)8
D)6.{) 31

c) 60

78) t-.=Yro\ g - 5.r*116 r d e =- r.-o\no\c'. cr.---Si "le-
Ll . (o 3; (x++\.?

lLta: ?x+t{t
7+-_Bx

$B) 11,

D) 12

A)
t_l

Assrtrne that lines rvhich eppear tangenf are tangenf,

3{}) l?ind}? pt.pz-= pt.pZ

\---- 
- -'/

A) 11 B) 6

c)5 *D)8

(r-tL-!.(*-z-)
72--a x -\b

40 =?x
I@ =X

{e =to -z:B

*i)-



31) FinclI{M L}:il^o1a.5'r'lr 'a' 
r.,s\'r'o\a- ' o"A

t{ [x+zS' lo -- 3o'1
l{, \ox+zlo=7'fro

IDX=O
X=o

a

leJVt =o-eta + to
krv\ --23{'B) 27

D) 30

Determine if line AB is tangent to the circle.

33)

Find pfi ushs\a-. sr^,} =-r-s\no\c-. o.,'*32)

Ex-r\t" = ts'?
\2x- tc -- llto

l2;<* \3 Z
f,=.tl

7

T

0 M
OF-= -+tL(\\

&f -- \5A) 32

c) 36 A) 13

c) le
EB) i5

.

D) l8

0.*+1.G2= lt z
1]Zn =LSb{

$A) Tangent I)) Not tangent

Finel the segment length indicated. Assnme that lines which appear to be tangent are tangent.

It . zz * Q. rtz= l?c,il--''','>'i )
/ tt.+ ,/

A) 6.6

c) 4.8

,/

B) s.7
*Di 5.6

7 =11-6.q:reI

-6*



f:ind the perimeter of each pol,vgan. Assume that lines which appear to be tangent are tangent.

3s)

Assume that lines which appeer to be tangent are tangent.

L-! =!t z-= - l3s)

/-! = 4s'

Assume that lines *'hich appeftr ta be tangent are tangent.

38)

eesu

B)4
*D) 3

"0€

B) 39s

D) 38'

indicated.

I

{

I

Pa 2.9.s + ta.q +t4 +B.G

A)6
uc) 3

','A)_ 450

c) 27"

Sglve for x.

i7\

A)
c)

11

6
B)4
D)0

tlX-a 
= 2x *3

b>QIE

P= bb.B

l0.r +'I

-L+llx'= tox+l

;'7 -



5;r- I
40)

5'<+b =L +bx

A)e
*f-l {

B) 11 . F4_r
D)3 Dc

z 7x.+1
zlO

B-4-
c)7

B)
D)

0

?

tlse the information proyided to write the equation of each circle. (X -h\t * (A-rl-\a : rz
.hL

41.1 Center: (iZ, -t+)
Radius: 1

A) (r-14)'+(y+14)2=q
I3) (x + l3)2 + (-v + 13)2 = 1

C) (r+10)2+(y+16)2=1

trelentify the center and radius of eaeh.

el - ort."
43) (.r + 1)" + ("1'- 14)' : la

A) Clt'nrer: {-1r+)
Radius: Vt9

B) Center: (-t. t+)
itadius: 19

[) Center: (-t+, t)
Itaclius: ri[9

*D) Cenrer: (*t. l+)
Radius: rl19

h L.
42) Center: (3. -2]

Radius: 7

-A) t, - 3)'* (1,*:)k
Bt (, - :)' + (.,'* 3)' = 24ol

C) (x - 3)2 + fu, 
* 2)'2 :4s

Dt (r+2)2+U*zS'=4s

, of,?,. , dt."
44) {r + ll}" + (.u + 4)' = 38

A) Cente:r: (+. t-l)
Radius: t

B) Center: t*2, rc)
Itadius: r/38

*C) Center: (-tZ. -q)
lladius: rJ 38

D) {lenter: (^lz, -+)
Radius: 38

-B*


